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(1) T Aered

2) TET=5ET

(3) T T AR

(4) TmRE TS

frer 1 Fre T 1 e TR S T
& oft ST ST A ?

(1) 3 (2) IS

(3) whTeitEm (4) TR

HHT TR TARE T WHe &S ?
(1) 16127%. (2) 1585%.

(3) 1574%. (4) 1541%.

The ornament ‘Memand’ is worn on :
(1) Head (2) Waist
(3) Arm (4) Feet

Vijaydan Detha is associated with
(1) Folk art (2) Folk dance
(3) Folk music (4) Folk literature

For which dynasty Bijolia inscription is
an important source of history ?

(1) Rathore (2) Sisodia

(3) Chauhan (4) Pratihar

Who was the commander of Bhil army

of Maharana Pratap in the battle of
Haldighati ?

(1) RanaPunja  (2) Lunna Chawandiya
(3) Jivashah (4) Tara Bhil

Who is called the path demonstrator of
Maharana Pratap ?

(1) Rao Maldev

(2) Rao Chandrasen

(3) Mota Raja Udaisingh
(4) Amar Singh Rathore

Out of the following which place was
also known as Tamravati Nagri ?

(1) Bairath (2) Aahar
(3) Kalibanga (4) Bagore

When did the Maharaja Rai Singh of
Bikaner sat on throne ?

(1) 1612 AD (2) 1585 AD
(3) 1574 AD (4) 1541 AD
0B
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10.

11.

Percentage area of Rajasthan to the
total area of India is

(1) 9.95%
(3) 1041%

(2) 10.55%
4) 11.45%

Which of the following is not correctly
matched ?

River Tributary
(1) Gambhiri — Meshwa
(2) Mahi — Jakham
(3) Kali Sindh — Parwan
(4) Sabarmati — Majam

Which district of Rajasthan have
highest annual rate of potential evapo-
transpiration ?

(1) Ganganagar
(3) Dungarpur

(2) Kota
(4) Jaisalmer

Match the following :
Region Local Name
L Dungarpur, Banswara a. Bhomat

12.

and Pratapgarh area

II. Aravali hilly area of b, Hadauti
Dungarpur, East Sirohi
and Udaipur districts

III. Abu hill region

IV. Kota, Bundi and Baran
area

I I 1 v

c. Vagad
d. Aburd

(1) d C b a
2) ¢ a d b
3) c b a d
4) d a b c

In which of the following districts of
Rajasthan sex-ratio decreased during
census 2001 and 2011 ?

(1) Rajsamand and Churu

(2) Ajmer and Dholpur

(3) Ajmer and Jhalawar

(4) Dholpur and Jhalawar
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13.

14.

15.

16.

Statement (S) : The distribution of
population in Rajasthan is uneven.

Reason (R) : The state has varied
climate and relief features.

(1) Both (S) and (R) are correct.

(2) (S)is correct but (R) is incorrect.
(3) (S) is incorrect but (R) is correct.
(4) Both (S) and (R) are incorrect.

Match the following :
District

I. Alwar a. Deeg

II. Ajmer b.

c

d

Tourist place

Kolayat

I1I. Bikaner

IV. Bharatpur
I I

. Soni Ji Ki Nasiyan
Pandupol

IV
(1) a
2) c
3) d
4 b

a o p o
o P oA

Which is the main factor of localisation
of cement industry in Rajasthan ?

(1) Market

(2) Availability of raw material

(3) Availability of power resources
(4) Skilled labour

Which districts of Rajasthan fall under

‘Humid south-eastern plain’ agro-

climatic zone ?

(1) Dungarpur and Banswara

(2) Dungarpur, Banswara and Pratapgarh

(3) Rajsamand, Bhilwara and
Chittorgarh

(4) Kota, Bundi, Baran, Jhalawar and

Sawai Madhopur

0B
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How many districts are included in ‘Mewat
Area Development Programme’ 9

(1) Three (2) Four
(3) Two (4) Five

Which winds is known as doctor wind ?
(2) Bora
(4) Chinook

(1) Harmattan
(3) Foehn

In which direction, trade winds flow in
northern hemisphere ?

(1) South-West (2) South-East
(3) North-West  (4) North-East

Kazihranga National Park is famous for
(1) Siberian crane

(2) One horned rhinoceros

(3) Snow leopard

(4) Crocodile

Choose the correct answer with the help
of the following statements :

(A) Variability of rainfall in Chennai is
more than Mumbai.

(B) Chennai receives maximum
rainfall from retreating monsoons,

(1) Only (A) is correct.

(2) Only (B) is correct.

(3) Both (A) and (B) are correct.
(4) Both (A) and (B) are incorrect.

If a tropical cyclone develops in the
Andaman’s, which port’s authorities
should be most alarmed ?

(1) Kolkata
(3) Colombo

(2) Rangoon
(4) Chennai
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25.

26.

27.

Which census year is known as year of

“demographic divide” in India ?

(1) 1991 (2) 1901

(3) 1971 (4) 1921

Great boundary fault separates

(1) Lesser Himalayas from Shivaliks

(2) Great
Himalaya

Himalayas from lesser

(3) Karakoram from great Himalaya
(4) Shivaliks from great Indian plains

Which country has the longest border
with India ?

(1) China

(3) Bangladesh

(2) Pakistan
(4) Myanmar

Where is great barrier reef is located ?

(1) Along the Western coast of
Australia

(2) Along the Eastern coast of
Australia

(3) Along the Western coast of New
Zealand

(4) Along the Eastern coast of New
Zealand

Consider the following statements :

In India the problem of soil erosion is
associated with

(A) excessive rainfall

(B) deforestation

(C) excessive cultivation

(D) overgrazing

Of these statements,

(1) (A) and (B) are correct.

(2) (A), (B),(C)and (D) are correct.
(3) (B), (C) and (D) are correct.

(4) (B) and (D).are correct.

0B
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Which of following statements are

correct  according  to ‘Rules of

Procedure and Conduct of Business in

Rajasthan Legislative Assembly’ for

Motion of No-confidence in Council of

Ministers in Assembly ?

(A) Leave to move the motion shall be
asked for after questions and
before the list of business for the
day is entered upon.

(B) The member asking for leave shall,
before the commencement of the
sitting for that day, give to the
Secretary a written notice of the
motion which he proposes to
move.

(C) The motion should be favoured by
not less than one tenth of the total
number of members.

Correct Option is : _

(1) (A)and (B) (2 (A), (B) and (C)

() B)and(C) (4) (A) and (C)

Who among the following has held the
office of the Chief Minister and Deputy
Chief Minister of Rajasthan ?

(1) "Mohanlal Sukhadia
(2) Tika Ram Paliwa]
(3) Hari Deo Joshj

(4) Ashok Gehlot

Which of the following Chief Ministers
of Rajasthan have not held the office of
the Minister in any Council of Ministers,
prior to become Chief Minister ?

(A) Jaynarayan Vyas

(B) Barkatullah Khan

(C) Mohanlal Sukhadia

(D) Bhairon Singh Shekhawat
Correct answer is :

(1) (A)and B) (2) (A) and (D)
G ©and((D) () (B) and (D)
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31. Which one of the following pair is not

correctly matched ?
Chief Minister Chief Secretary

(1) Mohanlal — K.P.U. Menon
Sukhadia

2) Barkatullah — R.D. Mathur
Khan

(3) ShivCharan - Madan Mohan
Mathur Krishanwali

(4) Bhairon Singh - T.V.Ramnan
Shekhawat

Which of the following are the
functions of the Cabinet Committee on

32.
Political Affairs of Government of
India ?

(A) To deal with problems relating to

Centre-State relations.

B) To

political issues that have to be

consider economic and

judged with a wider perspective.

(C) To deal with policy matters
concerning foreign affairs that do
not have external or internal

security implications.
Correct answer is
(1) (A)and(B)
2) (A)and(©)
(3) (A), (B)and (C)

4) (B)and (C)

0B
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33,

34.

35.

Who is the Chairperson of West Zone
Culture Centre, Udaipur ?

(1) Governor of Rajasthan
(2) Chief Minister of Rajasthan
(3) Tourism Minister of Rajasthan

(4) Divisional
Udaipur

Commissioner  of

Which one of the following pair is not

correctly matched ?

(Chief Minister of (Name of the State
Rajasthan) where he held the
office  of the
Governor  after
his tenure as
Chief Minister)
(1) Mohanlal — Andhra Pradesh
Sukhadia
(2) Harideo Joshi — Tripura
(3) Shivcharan — Assam
Mathur
(4) Jagannath — Bihar
Pahadia

In which year the provision for
Standing Committees in Panchayats
has been made by amendment in
Rajasthan Panchayati Raj Act, 1994 ?
(1) 1996 (2) 1999
(3) 2000 (4) 2011
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36.

3.

38.

39.

Who was the first President of the
Council of States, constituted under
Government of India Act, 1919 ?

(1) Fredrick White

(2) Alexander Muddiman
(3) Sachchidananda Sinha
(4) Vitthal Bhai Patel

Who made the thesis that “the twenty
first century world order would be
characterized by growing tension and
conflict but that this conflict will be
cultural than

ideological, political or economic” ?

in character rather

(1) Semuel Huntington
(2) Francis Fukuyama
(3) Ronald Regan
(4) Barrack Obama

Which one of the following Prime
Ministers of India was administered the
oath of office by the acting President ?

(1) Indira Gandhi
(2) Morarji Desai
(3) Rajeev Gandhi
4) I K. Gujral

‘Green Peace’ organization Wwas

established in which year ?
(1) 1971 (2) 1967

(3) 1968 (4) 1970
0B
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40. Which

41.

42,

committee/commission
recommended making the Rajya Sabha
into ‘truly Federal’ upper house with
equal representation for each State,
while continuing to support the
parliamentary system ?

(1) Santhanam Committee
(2) Rajmannar Committee
(3) Sarkaria Commission

(4) Punchhi Commission

Under which Article it is said that,
“subject to the provisions of this article,
there shall be a Public Service
Commission for the Union and a Public
Service Commission for each State” ?

(1) Article 174 (2) Article 248
(3) Article 315 (4) Article 310

Which of the following appointments
require  the approval of the
appointments committee of Cabinet of
Government of India ?

(A) Governor of the Reserve Bank of
India

(B) Deputy Governors of Reserve
Bank of India

(C) Chairman, Railway Board
Correct answer is :

(I) (A)and (B)

(2) (A)and (C)

(3) (B)and (C)

(4) (A), (B) and (C)
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43. Match List-I with List-IT and select the
correct answer using the codes given
below the lists :

List - I List-1I
(Authors) (Books)
(A) Jagdish (i) Making
Bhagwati Globalization Work
(B) Joseph (ii) In Defense of
Stiglitz Globalisation
(C) Ulrich (iii) Capitalism and
Beck Freedom
(D) Milton (iv) What is
Friedman

Globalization ?
@ ® © ©

() () @) G @Gv)

@ G @ G@Gv) GiD)

@) i) Gv) @ @)

@ Gv) Gi) @ 6

Which of the following Vice-Presidents

of India have been elected unopposed ?

(A) S.Radhakrishnan

(B) B.D. Jatti

(C) M. Hidayatullah

(D) V.V. Giri

Correct answer is :

(1) (A)and (B)

(3) (A)and (C)

(2) (B)and(C)

4) (A),(B)&(©)
45. ‘Asom Gana Parishad’ was established
in which year ?
(1) 1981
(3) 1985

(2) 1983
(4) 1987
0B



46. fam=ifera i & @ # 1 wd gAfer 7
27 -
R
wfum = vIeRTEe
I
(1) 255 (1)) (M) — Trsgufey <6t g wgdh
(2) 18 (3) —  Trsgyfa st wgafa
(3) 113 (3) —  Tsgafa i e
) 304 @ - usgEla el

47.

48.

49.

0B

o et a7 35 e e
et ¥ = foie wedt S

Hfau™ & fha srg=de A € 7
(1) 261 (2) 262
(3) 263 (4) 264
‘FTRETe 1 fagra’ ferem fea 7
(1) I B S

(2) <t g

3) Ea

4) s0wE. gn

TR MErh’ 1 ey Fifhd § &
frea g e

(1) s wgam

2) v

(3) YU ISHTHTT Bl HH HH B
(4) 3HTHaTE i T B
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46.

47.

48.

49.

Which one of the following pair is not
correctly matched ?

Article of the Terminology
Constitution of
India

(1) 255(1)(c) - Previous sanction
of the President

(2) 18(3) — Consent of the
President

(3) 113(3) — Recommendation
of the President

(4) 304(b) ~ Acceptance of the
President

Adjudication of Disputes relating to
waters of Interstate rivers or river valleys
related provisions stated in which article
of the Constitution of India ?

(1) 261 (2) 262

3) 263 (4) 264

Who has given the
Brinkmanship’ ?

(1) John Foster Dulles
(2) George Bush
(3) Roosevelt

‘Theory of

(4) Harry S. Truman

‘The Kyoto Protocol’ is related to

which theme ?

(1) Economic Co-operation
(2) Disarmament

(3) To reduce global warming

(4) To stop terrorism



2003 & g 2w § U FEieqmH (et
i) 88 ?

(1) SoeE

50.

51, ‘wifa & e ohan S W1 3 TR
A A AT TS 7
(1) Edee TH

2) g =M
(3) HAS

(4) TEEA

52, freifiea & & 1 @1 3w e gafera Td
77
(erferamives am=n)
(1) yrdg foew = 3ea
et g 1 == amEr - 1979
(2) SR e Tete e
=6 == I

(3) < ¥ wumEE o T
I I

(4) = 3 Tsgafa fwm Sfm
EIR IGRIED

(F)

- 1988

-1992

- 1996
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50.

51.

52.

‘Rose Revolution’ took place in which

country in 2003 ?
(1) Belarus
(2) Ukraine
(3) Georgia

(4) Russia

‘Uniting for Peace Resolution’ is also

called as :

(1) Roosevelt Plan
(2) Truman Plan
(3) Kennedy Plan

(4) Acheson Plan

Which of the following
correctly matched ?

(Official Visit)

(1) Indian Foreign
Minister Atal Bihari
Vajpayee’s Visit to
China -

Indian Prime

Minister Rajeev
Gandhi’s Visit to

China -

Chinese Prime
Minister Li Peng’s
Visit to India -

pair is not

(Year)

1979
(2) |

1988
(3)
1992
Chinese President

Jiang Zemin’s Visit

to India . -

C)

1996



3.

54.

55,

56.

57

oB

AR 919 F gt Y TEH M 2,
Frafefaa # @ S5 o afeem daR
TR ?

(1) e =g afEsn

(2) SRR — ST areE

(3) TTE — T8 qiEeHT

(4) TSI &Y g

T & 4, T & T frhe Reardh

1 SR fhhe # IR (YUW ew)
g ?

(1) vt f&ig
(3) 7y f&E

(2) TmfEg
4) Tl 38T

BT &1 H, ey | fpass fore wr i
T H TS 2 ?

(1) Terehr Fafereamerat & fog
(2) Tk foemerat & fag
(3) USrha BHETEME! & forg
@) Tga 5@l % form

fierarer & w1 & §, IO gu Afewa
HIAS HIRTAHER ?

(1) HETEAT A5E Afgehet HicrT
(2) TEEH UfEHe Hic

(3) Tl foem BfEse wiaw
(4) Tiareett Afsshe Hicts

e T e ¥ s AR
fraft T et 2 2

(1) 60,0000 (2) ¥40,000TH
(3) 75,0009% (4) ¥ 50,0007
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53.

54.

55.

56.

57,

To increase the flow of water in
Bisalpur dam, which of the following
project has been initiated ?

(1) Parwan Irrigation Project
(2) Brahmini-Banas Project
(3) Mahi-Banas Project

(4) Gadrada Dam Project

Which cricket player of Rajasthan has
recently debuted the international cricket
matches ?

(1) Pankaj Singh (2) Ram Singh
(3) Nathu Singh  (4) Khalil Ahmad

Recently, the star ranking starteﬁ in
Rajasthan for whom ?

(1) for Government Hospitals
(2) for Government Schools
(3) for Government Hostels

(4) for Roadways Buses

What is the name of newly opened medical

college in Bhilwara ?

(1) Jawaharlal Nehru Medical College

(2) Ambedkar Medical College

(3) Rajmata Vijaya Raje Medical
College

(4) Geetanjali Medical College

How much amount is given to the daughter
under Chief Minister Rajshri Yojana ?

(1) Upto X 60,000 (2) Upto T 40,000
(3) UptoX 75,000 (4) Upto < 50,000



58.

59,

60.

61.

62.

63.

TR TR 3 giednft qhienst i
oty &g et 7 @ = e wrada
TYEH R ?
(1) feardt

(3) HHTH

2) =t
(4) TEER

R 3 S Ik STl

R YTt 7 fhad 99 w1 Ry @
g fea ST @ 7
(1) THad
(3) o ¥

@) qad
(4) IR Ty

Frifera ® @ T 1 a1 e, if
AT gRI Heehial el 6 ugelt S
Wk 2018 H wfdfera g g 7
(1) Heg ) s
(3) R OIS

Ty | §=9 § 90 &R A gUR g
‘SO Y AT e WTTR <l 7

(1) 29w, 2018 (2) 1S, 2018
3) 19, 2017 (4) 29, 2017

TSR o9 2018-19 ® F = H
fre wfowa amfys waq amefs
Farail T vl & ?

(1) 37.72% (2) 48.22%

(3) 40.92% 4) 28.22%

af¥e  wdgmr  2017-18 % STHER,
2004-2016 % G WRA § Irafas Hiy
Hehel BT 341G i, (ferera ) Forerft <t 2
1) 3.2% 2) 3.1%
(3) 3.0% 4) 3.3%
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58.

59.

60.

61.

62.

63.

Which of the following free mobile App
has been launched by Rajasthan
Government to prepare for competitive
examinations ?

(1) DISHARI (2) REEDER
(3) COMEXAM (4) EVERNOTE

In Rajasthan, how many years of child
care leave is given to women employees
in their entire service ?

(1) One year
(3) Three years

(2) Two years
(4) Four years

Which of the following district of
Rajasthan is not included in the First
Delta Ranking 2018 of aspirational
districts of NITI Aayog ?

(1) Dholpur (2) Baran
(3) Sirohi (4) Churu

When is ‘Annapurna Milk Scheme’
started in Rajasthan to improve the
nutritional level in children ?

(1) 2™ July, 2018 (2) 1% July, 2018
(3) 1%July, 2017 (4) 2™ July, 2017

What is the percentage of total
expenditure, proposed on social and
community services, in the Rajasthan
Budget 2018-19 ?

(1) 37.72%
(3) 40.92%

(2) 48.22%
(4) 28.22%
According to Economic Survey 2017-18,
Real Agricultural GDP growth (in

percent) in India during 2004-2016 had
been : '

(1) 3.2%
(3) 3.0%

(2) 3.1%
4) 33%
0B



65.

66.

64. Tr=fafga ¥ & w1 ufig s HawE 2 2

(1) NDPg. (2) NNP,,

(3) NDPygp (4) NNPg.

F5a wiferh srfem (@ ) %

IR, T § 378 37 f 701 7 ITUR

THEFRTE ? |

(1) 2008-09

(2) 2009-10

(3) 2010-11

(4)2011-12

it sl FI 08

Q) T I, s wwa afRm
AT T Farait b HEE e R |

(i) UGGt 910 HA & faw i oo, o
A [EE HI TR E |

THABH A/ A RUA TR R/ 9

(1) % (i)

@) e (ii)

67.

0B

(3) THI (i) 7 (ii)
@) (i)9 (ii) #r5 T

1 4 @ B a1 o e 5 e e

¥ st e Ty 7 e d 2

(1) <1 T | =

(2) TH TG Y H1 gHAT ST e

3) EW ¥ FE A TR @ H
HATTIIHAT TE] |

(4) 9RG ¥ g1 H1 wE f Em
BT
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64.

6S.

66.

67.

Which of the following is equal to the
National Income ?

(1) NDP.
(3) NDP,,

(2) NNP,;;
(4) NNPg.

As per Central Statistics Office (CSO),
which is the present base year of IIP
calculations ?

(1) 2008-09
(2) 2009-10
(3) 2010-11
(4) 2011-12

Read the following statements :

(1) National income is the monetary value
of all final goods and services
produced.

(i1) Depreciation is deducted from GNP to
get NNP.

Which of these statements is/are correct ?
(1) Only (i)

(2) Only (ii)

(3) Both (i) and (ii)

(4) None (i) and (ii)

Which of the following benefits is not
available in the bank account opened under
Pradhan Mantri Jan Dhan Yojna ?

(D
()

Interest on Deposit.

Accidental Insurance cover of
T 10.00 lakhs.

No minimum balance is required
in the account.

3)

)

Easy transfer of money across the
India.



68.

69.

70.

71.

72.

freq v TrEfRE R
(1) 3tfermmehat &

(2) it wfskan &

(3) atferm wfefaat &
@) feu ot foremed

feadYeN I HU T 8 ?

(1) 31T FHESE 8 |

2) A g R |

(3) e ghen  defia /s
g e |

(4) tferm w1 aRoTH SRR TREdH
g |

s weags A faEfE @ ded.
Tdieror e arfes 3 forer <Y vg== i
\_ﬂT'H%:

(1) Iuctfey i
(2) At
(3) wafade i
(4) FfwEhHt

“R wfeframat ) Hiea % 3ud T
e Bt 2, 3= d@ o S g,
HEATA 8

(1) oat &1 Frm

(2) w9 =1

(3) acatan =1 g

(4) gragra 1w

Yt oy e T § EfRa R 7
(1) =afRie

) e

3) s

(4) AfEmal
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68.

69.

70.

71.

72.

Educational Psychology is concerned with
(1) The learner

(2) The learning process

(3) The learning situations

(4) All given options

Which one of the following statement is not
correct ?

)
)
3)
@)

Learning is adjustment.
Learning is universal.
Learning is always observs ble.

Learning results in change of
behaviour.

A class teacher administered Thematic
Apperception Test to a group of students to
assess their

(1) Achievement
(2) Awareness
(3) Personality
(4) Attitude

“The responses which are followed by
satisfying after effects tend to be learned”,
is called as

(1) The Law of Imagination
(2) The Law of Effect

(3) The Law of Readiness
(4) The Law of Relativity

‘Basal Age’ is related to the measurement
of

(1) Personality
(2) Attitude
(3) Intelligence
(4) Aptitude

0B



78

74.

75.

76.

Tl

0B

gig-afey (3 wy) % Thei 1 g 2 :

(1) g x 100

(2 %X]OU-

3) % X THT

1
) ﬁ—%x%ﬁq
Ut $oh seve wteror F Snfer
(1) ufe et @ i T 7
(2) TH HIS AU T The H1S
(3) Hfe FToH 9 Hhe qot uie ageh w1
(4) THwgeh #TE

SO ee BT g % T g -
(1) &

(2)

3) Hew

(4) FHTEA

25 = wTget el arfes 31y 16 2,
(1) 64
3) 80

T aER %1 w2 3R 3@
ufTs Ty fen & sef 2, Wit
foam e % ¥ uheds @
TR B |
(1) =
(2) ATCHT
(3) wfeTsH

(4) S8R

2 75
(4) 100
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73,

74.

75.

76.

77.

The formula for calculation of Iﬁtelligence
Quotient (IQ) is :

CA
(1) MA X 100

MA

(2) TA X100

CA
(3) Top X MA

4) %JXCA

The Rorschach Inkblot Test consists of
()
(2)
(3)

Five black and five coloured cards
Ten black and ten white cards
Five black and white and five
multi-coloured cards

Ten multi-coloured cards

(4)

The drive-reduction theory of motivation is
given by

(1) Hull

(2) Freud

(3) Maslow

(4) Kapson

The 1.Q. of a 25 years old boy, whose
mental age is 16 will be

(1) 64 (2) 75

(3) 80 (4) 100

Psychology is the science of behaviour and
it is intimately related to education because

it brings changes in the of a child.
(1) consciousness
(2) soul |
(3) mind
(4) behaviour
o
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79.

80.

81.

82.

mﬁﬁnmﬁﬁnmﬁ&amﬁhfh
R S 8 8 ?

(1) ot 6 st fafemr

(2) ameres faftmand

3) afaen faftmand

(4) = fafirand

AR ATEA AR TS ?

(1) e % EEA g — S
a)aﬁmMﬂ%Mﬁmh—ﬁ#I
(3) TR St g — 3

(4) waei-f s frgia — AT

A € I gfe @ R @
Wﬁﬁaﬂ%%

(1) SEE

(2) ST

(3) et SITIHA

(4) SRS T SRS S
frrifina o UiTeEs % AR AT &
wrefires frem 2 ?

(1) argwE % Frm

(2) v &1

(3) et & Frm

(4) wAgfht

e % e § et & | i W1 e

27

(1) T GgeH NG HE |

(2) T% T <H1 GHIUH I § |

(3) T8 P =re et e T & |

m)mmmuﬁwﬁﬁﬁﬁm%wm,
Ted e Riamatl 4 R R |

78.

79.

80.

81.

82.

Interest, Attitude, Achievement and Sex com¢
under the area of following differences :

(1) Internal differences of a person

(2) Social differences

(3) Individual differences

4) Characteristic differences

Which of the following pair is incorrect ?
(1) Sign Theory of Learning — Tolman
(2) Field Theory of Learning — Lewin
(3) Social Learning Theory — Bruner
(4) Trial and Error Theory — Thorndike

Factors which affect a child’s physical
growth and development are :

(1) Heredity

(2) Environment

(3) Only Heredity

(4) Both Heredity and Environment

Which of the following is the primary law
of learning according to Thorndike ?

(1) Law of Anology

(2) Law of Exercise

(3) Law of Assimilation

(4) Law of Disposition

Which of the following.is incorrect with

reference to adjustment ?

(1) It provides balance.

(2) It solves the problem.

(3) Itis not a continuous process.

(4) Inthe absence of adjustment one is
surrounded by tension, struggle
and anxiety.

0B
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85.

86.

87.

oI h frdvar At & -
(1) Wferpar

(2) vargefierar

(3) =i

@) feume f e

w g F fou Ren ofem 6

YA

(1) () : FIFTHAE A H TR T
SR & forw |

2) (F) : 9opl N FIEEHAT H
ST 3 faT |

(3) (317U (9) ST § |

(4) (37) 791 () i e € |

it i /sremed s aifreay
__ ®E)

(1) 3mFwS

(2) Hufed

3) @

4) T seefar 9

T 3 Rren By s e 2
(1) wigg=rat Hfza

) s Ff3g

(3) o Hfa

4) fowaHfga

e g wfafes dfes g &
Hise § YR # e aeat 9y affe
P g 2

(1) 100

(2) 120

(3) 200

@) 150
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83.

84.

85.

86.

87.

Characteristics of creativity is :
(1) Originality

(2) Fluency

(3) Flexibility

(4) All given options

Utility of educational psychology for
teacher is :

(1) (A): To know about self-knowledge
and preparation.

(2) (B) : To know about needs of
children.

(3) Both (A) and (B) are true.
(4) Both (A) and (B) are false.

Learning disabled children are mostly

(1) aggressive
(2) organised
(3) consistent

(4) under achievers

Psychology has made education :
(1) Curriculum centred

(2) Teacher centred

(3) Child centred

(4) Subject centred

How many factors are initially included in
Guilford’s model of structure of intellect ?

(1) 100
(2) 120
(3) 200
@) 150
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T NI § :
) FH (@) fywArgal & fere
(3) HEEHH! & T (4) TRt % fAg

He1 3 g T F FE B B T
£ Rl w1 IpE FHTA qAT AT Hehell
27

(1) WERS TFETeiE-1

(2) wewE fremfE

(3) WEWE IRefiE-1

(4) wEWE yEEE-11

syt T S T % fee fREm
e § TG @ ?

(1) & ) Tshfemn
(3) T (4) =M

2Ye1-TTE FHEH! 8 e hi g & T
35 A

(1) 399
(3) 1494

(2 11§
4) 1694

e @ AEG ToedE % 6w
IECE R

(1) AR (2) stgaen
(3) 3L (4) TA9TE
Tl W e T TR @ ¢

(1) TR & (2) Heafe |
(3) ol A 4) st

fopm 7o 3 STUSE A 1936 3. | FOI
fe=g’ = 7
(1) IR
(3) Hielt

(2) H
(4) HE
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89.

91.

92.

93.

9.

Mukam is famous for
(1) Jains (2) Vishnois
(3) Muslims (4) Jasnathis

Which period of the ruler of Kota is
supposed to be excellent period for the
Kota school of painting ?

(1) Maharao Shatrusal Singh-I
(2) Maharao Kishore Singh

(3) Maharao Ummed Singh-I
(4) Maharao Shatrusal Singh-II

Smt. Rama Devi was associated to which
peasant movement of Rajasthan ?

(1) Begun (2) Bijolia
(3) Barad (4) Bikaner

In the story of ‘Dhola-Maru’, the age of
Dhola at the time of his marriage was :

(2) 11 years
(4) 16 years

(1) 3 years
(3) 14 years

In which district of Rajasthan is the
historical place Mangarh situated ?

(2) Banswara
(4) Pratapgarh

(1) Dungarpur
(3) Udaipur

Gawari folk dance is
associated with

(1) the Garasias
(3) the Kanjars

basically

(2) the Kalbelias
(4) the Bhils

The Prajamandal of which princely state
had observed ‘Krishna Day’ in 1936 ?
(1) Udaipur (2) Kota

(3) Karauli (4) Jodhpur

0B
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(1) 26 ==, 1956
(2) 1 799K, 1956
(3) 26 =, 1950
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(3) FEHER  (4) R
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To which age does the artistic
splendour of Abhaneri and Rajoregarh
belong ?

(1) Gurjar-Pratihar (2) Chauhan
(3) Guhil-Sisodia (4) Rathore

Which fort is also known as Garhbeetalj ?
(1) Taragarh Fort (Ajmer)

(2) Taragarh Fort (Bundi)

(3) Jalore Fort

(4) Siwana Fort

Pabuji’s main pilgrimage site is :
(1) Thikaria village

(2) Jodhpuria village

(3) Kaulo village

(4) Panchota village

When was Ajmer-Merwara merged
with Rajasthan ?

(1) 26™ January, 1956
(2) 1*November, 1956
(3) 26" January, 1950
(4) 30" March, 1949

In which district of Rajasthan is the
temple of Charchauma situated ?

(1) Kota (2) Bundi

(3) Jhalawar (4) Sikar

Jina Mata’a fair is held twice in a year
in which district of Rajasthan ?
(1) Sirohi (2) Sikar
(3) Sawai Madhopur (4) Jalore
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